mwmw@mﬁmsraﬁﬁaﬂm
&Y a1 | o1 ZRY warer @ faem & TE

w FEAE E?

(1) warsr @1 faeeme=

(2) WHTST BT O

(3) WHIIT B qEAA

(4) WHIST B AT

(5) TaT 7 & Aed

Pretfifa & 1 ol 11 2 gafm & -

I 1l
da F1 ™ T|a M
A TE~__ I g el
B. #gar = —— I w3
C. 3 1. freg (F09)
D. Fodl IV, @

(1) A-IlI, B-1, C-II, D-IV
(2) A-IIl, B-1, C-1V, D-II
(3) A-III, B-II, C-1V, D-I

_4) A-I1, B-I, C-III, D-IV

(5) Tt & &A1 aed

w-1 9 & ¢ 7e @ @@=l § & 5el & |y

gafrd &L ¢
we-1 =11

A. @Y . ™

B. T 1. Zghe

C. agda 1. EEgEitE 3

D. srga V. smEEes

‘rTgT faaeg 3'3{ .

(1) A-1V, B-I, C-III, D-II

(2) A-1V, B-1, C-II, D-III

(3) A-I, B-1V, C-1II, D-II

(4) A-1V, B-III, C-1, D-II

(5) TuT & A a9red

T2 H A HTA ST GereA B W1 HEA & —

' L) gard

(2) wed

(3) frorEs

(4) arg

(5) SuT 7 < WrEd

Mirror changes the direction of light that falls
on it. This change of direction of light by a
mirror is called?

(1) Displacement of light

(2) Scattering of light

(3) Reflection of light

(4) ‘Reversion of light

(5) Not attempted

Match the following I and I :

I I
Name of the Organ of
Organism Respiration
A. Human being [. Trachea
B. Earthworm II. Lungs
C. Insects 1. Gills
D. Fish IV. Skin

(1) A-III, B-I, C-II. D-IV

(2) A-IIL B-L, C-IV, D-II

(3) A-IIL B-II, C-1V, D-I

(4) A-IL. B-I, C-III, D-IV
(5) Not attempted

Match the items in column-I with those in

column-II :
Column-1 Column-II
A. Salivary gland 1.  Bile juice
B. Stomach -~ _Il. Insulin
C. Liver /_Ul. Hydrochloric Acid
D. Pancreas -~ % Amylase

Choose the correct option :

1) A-1V, B:I, C-1I1, D-II
(2) A-1V, B-1, C-II, D-III
(3) A-l, B-1V, C-III, D-II
(4) A-1V, B-III, C-I, D-II
(5) Not attempted

The process of loosening and turning of the
soil is called —

(1) sowing

(2) harvesting

(3) winnowing

(4) tilling

(5) Not attempted

IKSHR / X3 / Page 2
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qumuﬂﬁ'ﬁmﬂ’lm%?

(”'qu F AT 7()0(‘ :
@ﬂﬁ?ﬁﬁm.ﬁqm
mmﬂwm,

(3) 38 B TTET 70°C Fyomy
30 T T T BTN i oy e
gas’fmm'e%wm 7T oS wmrTe
(4)%21573[ ZATAAT @h‘{'ﬁw(?'ﬁ T =
H| 7 e gt
(5)3?1'{#&5’(%31‘6'13&

3 xgwwdwmg{m“mw

7. et (zgwigs) fewa v b e
(1) ofrar
(2) oy
(3) wsHsn
(4) wa®

(5) gt wéi 1 wred

8. Prfufga & @ oY@ woAw wiEa B
(1) W& &1 qrefis™ :
(2) Pruret ww | g ST I
[MWWWWﬁW
_(4) W w1 qry § qREdd
(5) vox @ & wER

5. ‘%mwmmﬁwﬁ‘ﬁmm%?

(1) foewr 7 e &
Q) %A A - E
() & i § ofre g A T T

(4) urg @ wh enfrll

-
i

Pasteurisation of milk is :

(1) Heating of milk to about 70°C for about
30 seconds and then slowly cooling it
and storing. -

(2) Boiling of milk and then slowly cooling
it and storing.

(3) Heating of milk to about 70°C for about
30 seconds and then suddenly chilling it
and storing.

(4) Boiling of milk and then suddenly
chilling it. :

(5) Not attempted

Which of the following food items gives
blue-black colour with iodine ?
(1) Starch

(2) Minerals

(3) Protein

(4) Fat

(5) Not attempted

Typhoid is caused by =
(1) Bactena
42) Virus

(3) Protozoa

(4) Fungi

(5) Not attempted

Condensation is the process of —
(1) Evaporation of petrol
(2) Separation of sand from water by

decantation e
(3) Conversion of water vapour into its liquid
form

(4) Conversion of wa;_i{r: into its vapour
(5) Not attempted

—

Large scale storage ot: grains is done in :
(1) Silos and granaries_;

(2) Jute bags f~

(3) Jute bags and metallic bins

(4) Metallic bins

(5) Not attempted

< Fd ¥ foq & / SPACE FOR ROUGH WORK
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10. ﬁtﬁﬁrﬁaaaﬁgﬁﬁﬁar‘r

&

12,

13.

14.

15.

-1 w11

AT F AW it
A. big I aww
B. Wwai’r>*~:;/:~n_ B
T
TS

C. u&- 1.
D. W><l\’. .G
(1) A-IL, B-III. C-1. D-IV
(2) A-III. B-IL C-IV. D-1
37 A-IL, B-I. C-IV. D-III
(4) A-I. B-1V. C-III. D-II
(5) ST 918 =1 9w
ME T B TG T T B At B geen A
FHT a9nfg T 2

(1) =9

(2) g

(3) ¥ FHH

(9) sifas

(5) Tax 7E A1 9ry

AT F WHIA S B s e gl
T E?

(1)-50 &

(2) 30 &

(3) 40 &

(4) 25 a4t

(5) IO FE 1 9EA

Ty UE geeslg € o

(1) T =1 &g &

(2) 992 & M F WU HT 3d &)

(3) @S BEal B @UT B 39 B

(4) 959 @ua &Y 9 E

(5) sTT F& T arEd

Pt § & @F-ar ddamites ¥ 7

(1) srehiea

(2) avegita ot

(3) uftedmmefaa

(4) |itsan HEHe

(5) =T 7€ =1 °Eq

e Prefaftaa § 4 fead siwee 2 59y
LT g9 BT Wimar &7

(1) =t

(2) ueghafmas

(3) &=
(4) dran

(5) waY 7E A1 =Ed

IKSHR / X3 / Page 4

10.

11.

12.

13.

14.

15.

Match the following :
Column-I

Name of the

Animal

Snake L
Fish I1.
Bird I11.
. Cow IV.
(1) A-IL, B-III, C-1. D-1V
(2) A-III, B-I1, C-1V. D-1
(3) A-I1, B-I, C-1V, D-III
(4) A-L, B-1V, C-111. D-I1
(5) Not attempted

Column-II
Movement

Swim
Slither
Walk
Fly

oo

Dark coloured objects absorb heat
than the light coloured objects

(1) less

(2) equal

(3) very much less

(4) more

(5) Not attempted

The minimum distance required by a normal
human eye to see the objects clearly -
A1) 50 cm

(2) 30 cm

(3) 40 cm

(4) 25 cm

(5) Not attempted

Pathogens are microbes which :
(B Cause diseases

(2) Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

Which of the following is an antibiotic?
(1)~Alcohol

(2) Sulphuric acid

(3) Erythromycin

(4) Sodium carbonate

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold

(4) Copper

(5) Not attempted

T F1 & f1T % / space Fon ROUGH WORK
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18.

19.

20,

I ¥ fore ™ / SPACE FOR ROUGH WORK
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prafafaa & @ &4 B & wan g a7
(1) @ @

(2) wrEd =arE ST

() wa faes fue

(4) ATCEl &8 T

(5) Fex 8 ¥ A

weraE # @) agd HEQayl wrw EuE al
e &, qEu WRE @ qE e

(1) gy it

(2) wt &=

(3) TarEl

(4) orf e
(5) wax 78 ¥ aEd

W g § fead (@) grgairs faw
W e

(1) 90-110

() 110-130

() 130-140

(4) 80-90

16.

17.

18.

19.

20.

How many total number of canals are there
under "The Bhakra System' in Haryana?
(1) 472 Canals

(2) 528 Canals

(3) 452 Canals

(4) 521 Canals

(5) Not attempted

Where is IIIT, Haryana located?
¢1) Sonipat

(2) Kamnal

(3) Kurukshetra

(4) Hissar

(5) Not attempted

Who amongst the following was the first
Chief Minister of Haryana?

(1) Bansi Lal
(2) Bhagwat Dayal Sharma

(3) Rao Birender Singh
(4) Banarsi Das Gupta
(5) Not attempted

Fatchabad, is home to two very impoftanl
monuments. One is The Lat; which is the

other one?

(1) Humayun Mosque
(2) Dharamkshetra
(3) Banawali

(4) Arjuna Sthal

(5) Not attempted

How many (approximately) Community
Development Blocks does Haryana State

have?

(1) 90-110

(2) 110-130

(3) 130-140

(4) 80-90

(5) Not attempted

P.T.O.



21. Fr=fafaa saaf gv R fifo -
A. ®Emn § 8 wemafes wam #
B. dugwr sfamn % womate ywrit # &
o
Iugad FuA () § 4 B gl &7
(1) B &=
(2) A 3T B 2T
B)Fdar AR T & B
(4) A Faw
(5) Tt Té & awed

22. mm&mﬁﬁmmﬁmwﬁ
e 2
(1) #t=rre
(2) wo=T
A3) T
(4)&ran=ﬁ
5) amaﬁammﬁ

23. zﬁwnmmﬁm%?
,musf%m '
(/2‘)3%'“
gg,)m
@)
(S)Wﬂﬁﬂmﬂmﬂ

24. Eﬂmﬁuuﬁﬁgmtﬁwﬁma&gaa%
s 7 -
/ﬂ)saﬁa 2018
(2)25%-(?& 2017
»3) 1o=m$ 2011
(4) 8 am, 2015
(S)am-memma

25. m&q?ﬁaiﬁrmﬂm%?
A1) wriva,
(2) Hgm
(3)9?:!‘(‘
(4) frarh
(5) wat = & amwd

__‘__‘_‘_-_‘_“——
Th &1 & T @I / SPACE FOR ROUGH WORK
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21. Consider the following statements :
A. There are 8 Administrative Divisions in
Haryana.
B. Panchkula is one of the Administrative
Divisions of Haryana.
Which of the above statements is/are correct?
(1) B only
(2) BothiA-and B
(3) Neither A nor B
(4) A only
(5) Not attempted
22. Charkhi Daidri does not share border with
which one of the following?
(1) Mahendragarh
(2) Jhajjar-
(3) Hisar
(4) Bhiwani
(5) Not qtltempted

Which is._'il'le state flower of Haryana?
(1) Dahlia®

(2) Tulip’

(3) Lmusr

“4) Mangold

(5) Not attempted

23.

In which ;feér was the Pradhan Mantri Mudra
Yojana launchcd in Haryana?

( 8t Apnl 2018
(2) 25th February, 2017
(3) 10th March, 2011
(4) 8th Alpril, 2015
(5) Not attempted

o

Tomb of dbrahim Lodi is located at :
(1) Panipat
. (2) KaitHal
(3) Jhaijar,
(4) Bhiwani
(5) Not attempted

24.

25.

P.T.O.



26. Match List-I Tourist Centres with List-1I their

26, @eii-1 T FR B RN 3% e § P
Hifoig | location. T
-1 H—11 List-1 ist-
A; g?i T W i % ~ A. Sky Lark I. Hodal
B, 9eEHl Tl i B. Damdama :l{ Sui'lgaon
C. A UL wamp IC; Irz::m"fﬁkc I{J P:ni?;:lztl
D. @i dF o IV. uriyg Choose the correct answer from the options
ﬁﬂmmﬁmﬁﬁﬁﬁmﬂﬂmaﬁﬁm: given below :
3 A-IV. B-IL C-1. D-IIT | (1) A-IV, B-II, C-I, D-III
2y A-IL B-III, C-IV, D-1 ¢ (2) A-I1, B-III, C-1V, D-I
) A-III. B-1. C-1I. D-IV [~ (3) A-IIIL, B-I, C-II, D-IV
(4) A-l. B-IL. C-1IL D-1V g; If\\ll B-II, Ctl(;l D-IV
= 4 attempte
(5) SET TE I @A il e
5 &g o 27. Consider the following statements in respect
27. g g1 T (T T <) % mﬁ Prfeiad of the National Security Guards (NSG) :
et WX forane g ,;_-h A. It is one of the Central Armed Police
A. UF T& HAg wee gfvw @ ) Forces. ot
B. 9E WA G{HIC & & HA@d *F gomErTH B. It comes under the administrative control
frasome 21 G of thv.;::i Ministry of Defence, Government
srde # ; : of India. :
(1) 3 * g B WA T @ Y Which of the above statements is/are correct?
: e (1) B only
(A &t B 3t O (2) Both A and B
B)F AT B . (3) Neither A nor B
(4) & A ) (4) A only
(5) waT A&l 9T °Ted % (5) Not attempted
[t o
2. & P e wTc R &7 28. What is the approximately population of
B ; b ' Haryana? e
(2) 3.00,00,000 — 3,20,00,0 (2) 3,00,00,000 — 3,20,00,000
(3) 3.20.00,000 — 3,50,00,000 (3) 3,20,00,000 — 3,50,00,000
(4 1,50,00,000 — 2,00,00,000, (4) 1,50,00,000 — 2,00,00,000
(5) Ta FE 3T aTEd o (5) Not attempted Lo
!.---.} f -
2. ‘zframon @1 AOgS’ F €9 # fopdy W S %7|29. Which is known as the "Cherrapunji of
(1) wraeh tr (f{f)‘fylg“al“.‘-’
- osli
2) sl e (2) Chhachhrauli =
(3) Tardt = (3) Rewari i
{‘;J mﬁﬂgﬁ g; Ehanesar 4 J
) TET WE &7 e ot attempte
%) ;
30, g %7 wrdE e Eﬁm"“fa;} 30. Tht? ancient Fort of Madhogarh is located in
feam % 7 ) which district of Haryana? :
(1) femre O3] (1) Hisar o)
(2) oy fr g; .&aﬁur 5
- e ahendragarh i
(37 ¥z [t (4) Sirsa ’ l, r
(4) ferren (5) Not attempted ~
(5) e =g & AR J :
KSHR /3o < wrd & g T / SPACE FOR ROUGH WORK P.T.O.
Page 7



31.

33.

34, gd

35.

FHd TG 91 sar (uas @) & an A

ﬁm%ftm'cﬁua‘rwf%mﬂaﬁﬁm

A. zﬁwmuﬂwﬁrﬂ’rw*sﬁwé}ﬁ’l
g arfirs 2

B. sftamm & st vy & & soods & o oa S
g arfus )

SUgE H @ B9 G/ U ger 2R 7

(1) &aa B

() A 3T B 2=

BG)AIAITIAB

(4) Fam A

(5) IOt E T °Ed

. TATEToT HRE 99T gade @ R § wawEt

W%@ﬁﬁa%ﬁmwaﬁuwnm%@
fEar ¥
i A

ma&ﬁﬁaﬁanﬁzﬁwmmmﬁa
y &7

(1) afau

2) @

(3) diyam

(4) wat

(5) TaT TE g0 A@Ed

IKSHR / X3 / Page 8

33.

340

35.

. Consider the following statements about

Gross State Domestic Product (GSDP) :

A. GSDP of Haryana is more than that of
Bihar.

B. GSDP of Haryana is more than that of
Uttarakhand.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

. For recognizing the efforts towards

environment conservation and promotion,
Government of Haryana has introduced the
award in the name of :

(1) Shri Chaudhary Devi Lal

(2) Shri Bhajan Lal

(3) Pandit Jasraj

(4) Shri Darshan Lal Jain

(5) Not attempted

Consider the following statements :

A. Hindi is the official language of
Haryana.

B. Punjabi has been accorded the status of
an official language of Haryana in the
year 2010.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?
(1) Panchkula

(2) Jhajjar

(3) Gurugram

(4) Faridabad

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) South

(2) East

(3) West

(4) North

(5) Not attempted

T &1 % 7T W / SPACE FOR ROUGH WORK .

P.T.L:



. Which of the following is NOT a part of the

. A& B e % wef ay wrafi | 36
qarqun T ¥ traditional atti i
4 ional attire for men in Haryana?
(1) (1) Kamri
(2) T (2) Dohar
(3) graelt (3) Sopali
) qreT (4) Safa
(5) 9T T A1 ared (5) Not attempted
erfofiad Ferl o _ 37. Consider the following statements :
3% " S xber i A. There are five Police Commissionerates
A T _ gfere smgERe ¥ in Haryana.
B. W 4 gfvrd smgeaea flaa #1 B. Faridabad has a Police Commissionerate
gadad ¥ g B9 919 HYT gEr 27 located there.
1) B &ad _ Which of the above statements is/are correct?
o 3t B i
(g'j A B 2= (1) B only
G)TAAATEHB (2) Both A and B
@) A Fae (3) Neither A nor B
(5) T TE & qrEd (4) A only
(5) Not attempted
3. w8 FUIL BE frerr &7 38. Where is Brahma Sarovar located?
(1) e (1) Fatehabad
@) FEe (2) Kurukshetra
(3) feam (3) Hissar
4) e (4) Sirsa
(5) T T3 & e (5) Not attempted
3, yi Raedy dieaT @d fhe W ¥ W9 g2 |3 Fomous: Sportsperson Yogeshwar Dutt is
: associated with which sport?
(1) Frarrrars ; (1) Shooting
(2) peit ’ (2) Wrestling
(3) e %&b : (3) Javeline Throw
(4) gEeaT (4) Boxing
(5) 3T =& Fr.aEd (5) Not attempted
0. g § @ A T TR W o &7 40. In the dance form 'Loor', the word Loor
1) ; means?
) ﬁ’ﬂa“w ! (1) Ornament
3 (2) Music
BEA (3) Crop
(4) =rfere (4) Girl
(5) wug =é} 2= @ed (5) Not attempted
MSPACE
KSHR /X3 ; Page 9 5w B fag FOR ROUGH WORK P.T.O.




41, 20

42.

43.

o 10% B 3 B T B T T

ag ¥

(1) 25%

@) 28% 2
(3) 27%
44) 30% ,

(5) v T & W

TR FAE §Ed A, B, C 3 D & sirew
49.5%IWB£@ZTDE§TWWW
[~

(1) 2450

@) 2352~ IS
(3) 2550
\{D
(4) 2499 bt
fre
sl

X 8000 % TRT'5% it TR w @

W fEET adt & 2 9261 & o, wwafe e
MM HatT e ?

41.

42.

43.

The single discount equivalent to two
successive discounts of 20% and 10% is -
(1) 25%
(2) 28%
(3) 27%
(4) 30%

(5) Not attempe

£ 3
The average of four consecutive numbers A,

B, C and D is 49,5, What is the product of
e

B and D? ;
(1) 2450
(2) 2352

(3) 2550 -,
@) 2499
(5) Not atteliiiﬁpted

e
In how many years will a sum of ¥ 8000

at 5% per dannum compound interest,
compounded-annually becomes 7 92612

1) 3 M 3 -
(.J }
2 | b B e
2) 45 - Q) 45 '
b
Ay Prs "R
R
e l S
(4) 3'5 - ) 33 :\
N . ol
(5) TuY @i Tr-awEa

[.

(5) Not attémpted

IKSHR / X3 / Page 10
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44. 5-&@?3@%@@_@12*15\"“]8%

45.

46.

____—_-_-___-—.__—_.—_—_‘_——F'-’—_
IKSHR / X3 / Page 11

fpwrfora &, =R :

(1) 10,015

(2) 10,020

(3) 10,080

4) 10,010

(5) TTT TE T AEA

2~2><3_?><_5$, _23><3.2 ><§2 x7 3

24 x3*x5x7% x11 % HCF %
(1) 22x3%x5x7x11

@) 24x34x5°

3) 24 x3* x5 x7x11

@) 2%2x3%x5
(5) saT i 1 qEd

% 9,30 wfy feeim a™ W & G ¥ @
¥ A A 8:7 % orguna ¥ framan AR s
WW?IO‘;I{%{W%.H’T@W%”@
w1 e wfy feeiam @ &7

(1) ¥ 10.60

(2) ¥ 10.80

(3) T 11.00

% 10.30

44.

45.

46.

The smallest 5-digit number which is exactly
divisible by 12, 15 and 18 is :

(1) 10,015
(2) 10.020
(3) 10,080
(4) 10,010
(5) Not attempted

The HCF of 22x33x5°, 22 x32x5%x7
and 24 x3¥x5x 72 x11 is

(N 22x32:~:5x7x11

@) 24x3*x5°

(3) 24x3%¥x5° x7x11

@) 22x32x5

(5) Not attempted

Wheat at ¥ 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,
what is the rate per kg of the second quality
of wheat?

(1) 7 10.60

(2) T 10.80

(3) T 11.00 >
(4) T 10.30

(5) Not attempted

<% @14 & T B / SPACE FOR ROUGH WORK
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47. a: b % 9% v | e I et T frad | 47. The number that must be added to each term

AT c:dwa &, & : of @ : b so as to get the ratio ¢ : d, is :

ac + bd ac+ bd
(1) (1)

c+aq c+a

ad +bc ad + be
(2) ctq 2) —

ad —be ad — bc

3

W ctd P

ab;cd ab—cd :
S s o
() e T & Al (5) Not attempted

48. et it &t 3:5 % s & Renfe Ry mar) | 48+ A certain sum is divided in the ratio 3:5.

AT AT IS E, @ R If the greater part is ¥ 75, then the sum is :
(1) T 130, (1) T 130 &
(2) T 150" o (2) T 150
3) 7240 - | (3) T 240 o
(4) T 120 4) T 120 e
(5) TuT 7 I AR (5) Not attempted
9. W 0<x<1 8 AP A 3 7B 49. If 0<x <1, then the g@étest‘llmnberamong
iU S the following is : -~
(1) x2 [* -I (]) x2 :L_;,':‘.
5 l : . 2 l r.:.:
@) 7 @
e, .
<«3) 2 = 3) - _
4) x . OF: i~
(5) wat! e & Aned (5) Not attempted |, l
IKSHR / X3 / Page 12 T @ & forg @ / space FOR ROUGH WORK T S

-+ P.T.O.




50.

51.

§2.

e
KSHR /X3 / Page 13

|
Aﬁmiﬁrgmsfﬁﬂrmmg

2' ...

gaal ¥l A 901 B 9 fret av o8 B @
e & & g w5t waa %2

g :
) 85 |

3 :
@ %%
3) 10 3

1
) 75
(5) suT 7E F1 Awd -
@ AT aww, A e, Py dw @ g
65 fFet &, % &g gem § 2 "¢ 10 fez @
| gEa iy de iy et
(1) 500
(2) 600 N
(3) 700 ‘
(4) 200 >
(5) woT @ W oAEd
Al B ¥ muar: ¥ 85,000 aar T 15,000
AR row fear o a9 & 9%, B A @
8 s & wer @™ Hm S ?
(1) 3:5 ,33;
@) 15:3 =
#3)17:3
(4) 3:4 -
() I i T e

_ 1
50. A can complete —

51.

52.

3 of a work in 5 days and

2 :
B can complete 3 of the same work iIn

10 days. In how many days both A and B
together can complete the work?

4
8—
(1) 5

3
() 9§

(3) 10

1
@ 73

(5) Not attempted ias

e

A motorist travelled between two towns,
which are 65 km apart, in 2 hours 10 minutes.
The speed in meters per _mmute is:

(1) 500
(2) 600 |
(3) 700
@) 200
(5) Not attempted e

A and B started a busmess by investing
¥ 85,000 and Z 15,000 rcspecnvely In what
ratio, out of the following, their profits will
be divided after one year?

a3s To.
@) 153 =
(3) 17:3 ok
55 ';_”.,

(5) Not attempted

< @ % 1T T / SPACE FOR ROUGH WORK
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1§ &kt g T T st % o T A @, 3 F
gmaﬁﬁmﬁaﬂwﬁmm??

54.

(1) 216

276

(3) 218

(4) 36

(5) w=X E 1 =

55, afr 3=1.732 T J2=1414 &, @

1
Bz o0

(1) 0.308
(2) 0.318
(3) 2.146
(4) 0.064
(5) vt 7€ A1 °wd

54.

55.

(1) 2
2) 3
3) 4
“ 1

(5) Not attempted

How many cubes of edge 3 cm can be cu
out of a solid wooden cube of edge 18 cm?

(1) 216
@) 6

3) 218
@) 36

(5) Not attempted

If 3 =1.732 and /2 =1.414, then

" _
m is equal to

(1) 0.308
(2) 0.318
(3) 2.146
(4) 0.064

(5) Not attempted
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56.

57.

(5) g 7 & @red

58.

KSHR / X3 / Page 15
Abe OGF o 1
23k Mo p \
GRS Ty b

aft A+ B @ aid ¥, 'A. B 1 ard 3y
A-B@ g & A, BE Uiy &y

A xB@ ad &, A, B% far ¥
Eﬂ'PxQ*PR—S?BTGT&%

@ Q.S & dfq &

(2) S. P % u=h

(3) P.S%& fram %
WP S % agT ¥

(5) wa E Z =

ﬁémﬂﬁamﬂ%wmmﬁmﬂnf’m
T ¥ HenEH & T GO @1 uan 51 Py
Wﬂﬂﬁﬁmﬁ%mwmym,m
TH |

TOARHU

1 23456
(1)3,6,1,4,5,2
(2):3,6,1,5,2,4
3)24,51,3,6
(4) 4, 2,1, 6,3, 5

W frEwy @ ggw @i, W odEl 9§ I
TR wafyg &, frg wer @0 9%, EC RH
Haftr &
EE_F_!"{:i%ﬂa:n::_‘??IEIEH‘-:'

(-

) wren =

ORCLE

(4) e

(S)Wﬂémaﬁ%t

56.

2

If A + B means 'A is brother of B'.
A — B means 'A is the husband of B'.
A x B means. ‘A is the father of B'.
Then P x Q + R =S means :

(1) Q is the husband of S

(2) S is the \\it‘c_'?f P

(3) P is the t‘athe.r ;>f S

(4) P is the father-in-law of S

(3) Not ancmptedj'--

A set of English letters is given below in a
jumbled order. Sclect the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.
IO ARHU
1 23 4 56

3.6, 1, 4,5, 2

—
-
-

4
s
.

G, 1. 5.

.l
19

2.4
% 5 13,6
(4) 4,2, 1,6, 3,5
(3) Not ullcmplc'(i‘

Choose the option: which is related to the

third term in the-same way as the second -

term is related to the first :

Pen : Write 2 Spade : ?

(1) Dig =
(2) Cut '5: A
(3) Guard ¥
(4) Crush g

(5) Not attempted
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\
1§¢
4

7o

B

(4) 7™

(5) =T T & A
60. 2 wua X IES e A Freed 1 el 11 o o
¥ R T HEAT B FE WS B AR S g
o qadl @ o= & W udie 2R R, Pl ey
f6 &= @A Frad Ru 1o su & oemu aT
adeTa ®9 ¥ Frawar /e ¥
FF ;@ ARE wda ¥
af TErET uda ¥
(D- Fo =t wemrr ¥)
() F® uda afEr ¥
(1) Fam fepd 11 Preerar )
(2) Tramd 1 af 11 9 Prae )
(3) 7 @t Frand 1 afrc =1 € 11 frapean 21 -
M wEe Freapd 1 Praear 3

(5) uT & AT =y

frerd

61. §E-Hae gaea & 4=, § UH g B T
mgwmlw@%wmw%w

AT AN T w ga e R ¥ ar?

W@

(2) ufyem

(3) TuT—ufyan

(4) =iy

(5) waT =& T Ay

62. & 7 sjEen F Y@ wen @y wa A
143, 149, 158, 170, , 203

185

(2) 190

(3) 192

(4) 182

(5) =9 T T 9

IKSHR / X3 / Page 16

89.

60.

61.

62.

Choose the odd one out :
(1) Quintal

(2) Kilometer

(3) Kilogram

(4) Gram

(5) Not attempted

Two statements are given, followed by two
conclusions I and II. Assuming the staterpems
to be true even if they seem to be at variance
from the commonly known facts, decide
which of the conclusions logically follow(s)
from the given statements :

Statements : All rivers are mountains.

All oceans are mountains.
Conclusions : (I) Some rivers are oceans.
(I) Some mountains are
rivers.
(1) Only conclusion II follows.
(2) Both conclusion I and II follow.
(3) Neither conclusion I nor II follows.
(4) Only conclusion I follows.
(5) Not attempted

Early in the moming after Sunrise, Sunny

was standing facing a pole. The shadow of

the pole fell exactly to Sunny's right. Which
direction was he facing?

(1) East

(2) West

(3) North-West
(4) South

(5) Not attempted

Find the missing number iy t
143, 149, 158, 170,
(1) 185

(2) 190

(3) 192

(4) 182

(5) Not attempted

he series :
e} 203

S I E A
—\—‘é‘% V')
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The fourth day of March in a year was

63. Torel ad ¥ miref o e fomr wae o, G @l o | 63.
b STl HEN w1 aifem faw war ar? Thursday, what was the last day of the next
) 3 month in that year?
o o (1) Friday
‘ 2) Saturd
3) (2) Saturday
(3) Sunday
(4) TFAR
(4) Thursday
(5) 39X & 7 ameq
(5) Not attempted
64. BF E‘Iﬁﬁ X Y Z M N G-?IT O 39T &t GfT'(‘ a“g 64. Six persons X, Y, L M, N and O are Sitlil’]g
FH TH ‘Tﬁﬁf E ﬁ% % A s T ¥ f t e in a row facing towards North but not
E'é’f w4 A ®| 'Z, X' & N’ & é’lﬂ f{ der %I necessarily in the same order. 'Z' is sitting
M Rt g T 3 Y, N & 35 ad % between 'X' and 'N'. 'M' is not at the end. 'Y"
'0' mﬂﬁ.‘»‘—lﬁ WA EIM & us‘re& 2 & 9 is sitting immediate right to 'N'. 'O’ is not at
a4) Z dt Y the right end. Who are the neighbours of M?
) 0 st X (1) Zand Y
2) O and X
(3) O st N it
(3) Oand N
(4) X it N
(4) X and N
5) AT 7éf &1 ued -
©) (5) Not attempted
65. o ' g ,
Iﬂﬁ: TF FT M A VIETNA_I:A .l qz' 65. If in a code language 'VIETNAM' is coded
WKFVOCN' %, df S 2 vt & ‘BRITAIN as 'WKFVOCN!, then how will 'BRITAIN'
@ f6g yee frar s ? be written in the same code?
(1) CTIWCIP () cywcip
@) cTiveko (2) CTIVBKO
@) CTIUCIP (3) CTJUCJP
4) cTIWBKO (4) CTIWBKO
(5) e TE 27 3 (5) Not attempted
K
SHH’mIPageﬁ. Wmﬁa;ﬁfqma/spACE FOR ROUGH WORK PT.O
i ep—
vIeTwAm g RITAIM® 3dA BRI TATNW
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66.

67.

68.

69.

70.

.?HW»%mgaqﬁamaaﬁﬁlﬁm
&= & -

(1) Pparemas

(2) FemeTEA

(3) e

(4) PamE §

(5) wux & W ABY

FgEY AR 92 H Ifa fawe % -
(1) fafrs gow

(2) HAT geu

(3) &= grW o

(4) Piewa gou

(5) S=T 7 o

ﬁqwﬁmmﬂmﬁﬁmmm
T g E ?

(1)asﬁi=1ﬁmm.:ﬁaﬁwmm

| —
(2) TET e, ﬂcmmﬂé’fml
() T ¥ F Hw A ¥
(4) gu TFa eex ® wa @7
(5) suT 7 &1 9Ed

Hera 47 BT % faw sugE geEa ¥ -
(1) =g @ig=m! 5

@) sfg 7 o T
(3) o B FE -
(4) e Bt AL

(5) TaT & & AEd

RCRETE arﬁaﬂa'crﬁﬁlﬂ?mgmwhaﬂ TE ¥ -
() wd

(2) eraT

(3) wfarerT

(4) =rEeT

(5) wat 7E & —

_‘_,: \! \ J

72.

(S)W?ﬁﬁmﬂ@

73.

74.

75.

(4) gy e

11, W @ qEH 0 B9 E -

(1) 3

(2) Hed i
(3) 7
(4) &
(5) weT TE A ﬂﬁ?f

aﬁ#aﬁg&zﬁaﬁa—m-a& & T ¥ 7
(1) @&

@) gt s

(3) T

(4) g

Priag § § HE-E0 aﬁum BT BT TH 9T
T Y7

(1) T

(2) SaTguTE

(3) siga™E

-
o

e

(5) SE & A "R -

‘grifeEas’ amﬂsﬂ-‘maa’iﬁnﬁmgﬁ
qrEFe ¥ — X

(l)uﬁhﬂaﬁrm@rwﬁm
(ﬂmﬁm%qﬁ#mﬂra
(3)@Wsﬁ|mﬁhwﬁm
(4)nwmihqgﬁgmama
(5) SEX & I Awd

T W@ ¥ A L{j‘aiﬁm; UG 9T ¥ -
(1) aremiiers =
2) it
(3) st -

(4) witewe [~
(5) swy @& N Ay
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7.

78.

9.

80.

B o
X

KS

pp 291 A A 2023 ¥ W § 20 oy STeETa
qq @ &7
() EIRIGH -
@ afyor G!'Q'ﬁ'nﬁfﬁ\
(5) SO TE 3 (A

L |
aﬂﬂm‘““@f’ &1 b7 (STESiTii) ¥ fpah
Ftes T ¥ 7 -
(1) &r@
@
(3) d
(4) o= -
(5) S T 3 e
Pt & & g, e @1 e @ v
SEN WTaT %? [
(1) #resw
(2) "emer
() T wRar
@) siers
(5) T ¥ e

O

L

et

o) AL Bu11, Cf, Dy
ML BV, O] pil
L B1, ¢p, p-1v

s B-L, CV. .-
) g gy C1V, D1

% w &

76.

77.

78.

9,

80.

[
- WF"/ SPACE FOR ROUGH WORK

Civil Rights Movement of 1950's put an end
to social discrimination. From where did the
movement begin?

(1) UK.

(2) FRANCE -

(3) GERMANY

(4) US.A. |

(5) Not attempted

Which country has taken over the
Presidentship of G-20 from India in the year
20237 _
(1) Canada !
(2) Bangladesh™’
(3) Brazil
(4) South Africa
(5) Not attempted

1
How many functional units are there in
Indira Gandhi National Centre for the
Arts (IGNCA)?
(1) Seven
(2) Nine
(3) Three
(4) Five =]
(5) Not attcmj:'j’g Id

o

Which of the Ig}lowing states is known as
'Sandalwood state of India'?

(1) Karnataka'

(2) Meghalaya

(3) Uttar Pradesh

(4) Chhattisgarh,

(5) Not attempted

Match the folli'f)}’:ving :

List-1 List-1I
A. Rowlatt Satyagraha 1. 1918
B. Civil diso}igg'iience II. 1919
movement
C. Mill workers' strike 1. 1922
D. Non-cooperation IV. 1930

movement-’
Choose the corréct answer from options
below : -
(1) A-lIL, B-IL'C-I, D-1v
(2) A-Il, B-IV, C-I, D-III
(3) A-lll, B-L; €I, D-IV
(4) A-11, B-1, C-1V, D-111
(5) Not attempted

P.T.O.




_—""

dia was the first one to

i in In
. 1. Wthh State‘ln heme?
81. ared & 79 e S B S v @9 introduce Mid day meal sC
(1) afe TS (2) Karnataka
(2) Eﬁq‘i?-_‘:% 3) Andhra Pradesh
(3) Sy v 4) Kerala
(
(4) s o ¥ (5) Not attempted
(5) 90X -
_ 2. Which is the second largest continent after
82, Asea ¥ fra ¥ ufimn & @ gEd gag 31 Asia in terms of area?
weTéN FA-H ¥ 7 (1) Australia
(1) smefean (2) Africa
(2) s (3) Antarctica
(3) =TT (4) Europe
(4) g (5) Not attempted
(5) wa< & 1 9Ed
T O — 83. The National School of Drama (NSD) was
B3, eh:ﬂa ( ) @ e f set up in which year?
%_f) 15;75 (1) 1975
(2) 1959 ) 1929
(3) 1950 (3) 1950
(4) 1976 (4) 1976
(5) Tt W& I A (5) Not attempted
84. HEd eI @ a9 9% fear mr w9 fewml 84. Non-cooperation movement was called off
Y Prefefiag & & fpg g™ & om o & &y ? when Peas.ants set fire to a police station in :
(1) 9 @ (1) Chauri Chaura
(2) gureer (2) Champaran
(3) sTEHeEE (3) Ahmedabad
(5) TaX & AT 9wd (5) Not attempted
85. m argase e @i § ffra ¥ 7 85. guzragnosphere is divided into how many
(1) e i
2) @ (1) Five
3y (2) Seven
E 4; - (3) Nine
1 (4) Eight
ared
(5 S R (5) Not attempted
IKSHR / X3 / Page 20 T% @1 % T W / SPACE FOR ROUGH WORK ———
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§6. TE Brde Rammd aq wiH fhg 3y % fomr | 86. Famous cricketer Ben Stokes plays

fordpz Wy ¥ ? international cricket for which country?
(1) it (1) New Zealand
(2) ¥ (2) England
3) e ferar (3) Australia
4) I=Tw . (4) West Indies
(5) ST T 1 Ty (5) Not attempted

g7, fra ad ®ig A R 7 ¥ s - 87. In which year did the Congress and the

e R 97 Muslim league sign the Lucknow pact?
(1) 1909 (;) 1‘902
) 1915 (2) 191
(3) 1916 (3) 1916
(4) 1906 (4) 1906
(5) O TE T T (5) Not attempted
. 5 : ) | 88. In Mahatma Gandhi National Rural
$8. SETeT Melr o T Ao e aiffram, Employment Guarantee Act 2005
2005 (FFTTET) F WG waR ¥ ad F ey (MGNREGA), how many days of
& & T @ TSy & 22 employment are guaranteed in a year by
(1) 75 = the Indian Government?
@ 100 ' (;) ‘:goDSys
(3) 90 bon 23; 90 Da;irs
(4) 120 ﬁm_ (4) 120 Days
(5) wuT éf 3= amEd

(5) Not attempted
8. Tom wfem 3 ad 2019 ¥ frg e @ B SR 89

- Who won the 'Bharat Ratna Award' for year

e ? 2019?
(1) g @it (1) Pranab Mukherjee
Q) . qiw zwi (2) Dr. Bhupen Hazarika
(3) w. dror.em. T (3) Prof. CN.R. Rao
R g Y — ' - (4) Ustad Bismillah Khan
(5) TR & Fe (5) Not attempted
. F yelt arqar diger 981 @ & ¢ 90. (\T;lifthird dl?es not make its own nest?
0 ndian robin
TG Tife | (2) Koel
(2) Bae (3) Tailor bird
() e fafear (4) Weaver bird
g) 1 fyfegy (5) Not attempted
) ¥ Tty 2 '
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91.

92.

94.

9s.

Change the following sentence to indirect

speech.

He said. "Nambiar works hard."

(1) He said that Nambiar was working hard.

(2) He said that Nambidr had worked hard.

(3) He said that Nambiar had been working
hard. bt

(4) He said that Nambiar \\orked hard.

(5) Not attempted - [
;..'1

Choose the correctly ispelt word :
(1) incradulous
(2) incredulous
(3) incredulus
(4) incradulus
(5) Not attempted

(O
-
)

. Pick out the part ofsthe sentence which

has an error. If there ig-no error, your answer
|"|I'

is
The \\hole block of ﬂats /

A

including two shops were /
B ;

destroved in the earthquake.
B D

(1) B Ch

2) C Q)

(3) No error -

4) A H

(5) Not attempted [~

Choose the alternative which best expresses
the given sentence in Passive Voice.

Must we cut this treé2”

(1) Must this tree was cut?

(2) Must this tree be“cut?

- (3) Must this tree is cut?

(4) Must this tree will-cut?

(5) Not attempted 1

f-..

Find out the synonym of the underlined word
in the following sentence.

Colours, like featuresy follow changes of

emotions. @)
(1) movements ()
(2) sentiments i)

(3) under-current [
(4) moments i
(5) Not attempted [~

96. Replace the underlined word/phrase with an

9.

98.

99.

alterpative to make a grammatically correct
sentence.

"The ladder will be collapse if you push the
wall with both the hands.

(1) will have collapsed

(2) will have been collapsing

(3) No change 1

(4) will collapse !

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlmed idiom.

Our hockey team scored lhe winning goal
at_the eleventh hour.; ™

(1) at a crucial time- .'

(2) before an hour .

(3) at the last minute-

(4) in the beginning

(5) Not attempted

Fill in the blank with’correct form of verb.
Neither of the two men very strong.
(1) was -

(2) will be
(3) shall be -
(4) were ,.4
(5) Not attempted

L_J ,

Arrange the followmg parts of the sentence
to make a meaningful sentence.

A. to understand (—;’

B. to many peeple

C. threatening and" eVen impossible

D. grammar appears

(1) BDCA f_j‘
(2) DACB bt
(3) ADBC

(4) CABD 0
(5) Not attempted P

100. Find out the antonym’of 'democracy’.

(1) republic

(2) delicacy ™
(3) monarchy r
(4) popular f
(5) Not attempted
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